
K

31½" 
80cm

J

A

 

30”
76.2cm  

4 5/8”
11.7cm

 

31 1/2”
80.0cm 

1 1/4”
3.2cm

 
 

5 7/8”
14.9.cm

 

60”
152.4cm

1 1.1

18 lb.
8.2 kg

3/16ʺ
0.5 cm

K

K

31 1/2″
80cm

J

J

A

A
A

J K

A

B G

HC

D

F I

#10 pan head screws 
or
M5 pan head screws

#10 pan head anchors 
or
M5 pan head anchors

A - HDL300 Integrated   
microphone and speaker bar

B - Breakout box

C -

D - 

E - Ethernet cable 50’ (15 m)

F - USB cable

G - Power adaptor

H - Power cable 6’ (2 m)

I - 

A

PACKAGE CONTENTS

YOU WILL NEED

1 0 0 3 1 3 - 0 1

85″≥ 216 cm

A

E

1 1.2

3/16"

0.5 cm

4⅝" 

11.7 cm

    31½"
80.0 cm

1¼"   

3.2 cm
A

5⅞" 

14.9 cm

60"
152.4 cm

A

18 lb. 
8.2 kgA

A

A

H

HDL300 and DUAL HDL300
QUICK START GUIDE

PACKAGE CONTENTS

 

30”
76.2cm  

4 5/8”
11.7cm

 

31 1/2”
80.0cm 

1 1/4”
3.2cm

 
 

5 7/8”
14.9.cm

 

60”
152.4cm

 ववववववववववववववववववववववववववववव

1 1.1

18 lb.
8.2 kg

3/16ʺ
0.5 cm

A

Y 

X

X
0″ - 2″ 3″
2″ - 4″ 6″
4″ - 8″ 12″

0 - 40mm 60mm

40 - 80mm 120mm

80 - 200mm 300mm

Y 

A

0 - 4 cm
4 - 8 cm

8 - 20 cm

6 cm
12 cm
30 cm

B

C

F

I
D

G

1.1

J

#10 pan head screws
or

M5 pan head screws

K

#10 pan head anchors
or

M5 pan head anchors

1 0 1 3 4 9 - 0 6

YOU WILL NEED

A

HDL300-D

E

E

HDL300

30
'

76
.2

 c
m

15
'

38
.1

 c
m

H
D

L3
00

-D

H
D

L3
00

H
D

L3
00

-D

HDL300-D

HDL300

A - Integrated microphone and 
speaker bar

B - Connect module

C - Mounting plate

D - Mounting screws

E - Ethernet cable 50' (15 m)

F - USB cable 6′ (2m)

G - Power adaptor

H - Power cable 6′ (2m)

I - Remote and batteries

HDL300

DUAL HDL300

Altura mínima de instalação recomendada

Zalecana minimalna wysokość montażu

Suositeltu minimikorkeus asentamiseen

Ajánlott minimum telepítési magasság

推奨最小設置高さ

권장 최소 설치 높이

גובה התקנה מינימלי מומלץ

ارتفاع التركيب ا�دنى المستحسن

PT

PL

FI

HU

JA

KO

HE

AR

Não bloqueie os microfones

Nie należy blokować mikrofonów

Älä estä mikrofoneja

Ne blokkolja a mikrofonokat

マイクを塞がないでください

마이크를 차단하지 마십시오

אל תחסום מיקרופונים

� تحجب الميكروفونات

PT

PL

FI

HU

JA

KO

HE

AR

Faça a instalação afastada dos cantos

Należy zamontować z dala od narożników

Älä asenna nurkan läheisyyteen

Ne sarokba telepítse

隅から離して設置してください

모서리로부터 멀리 설치하십시오

התקן הרחק מפינות

قم بالتركيب بعيدا عن الزوايا

PT

PL

FI

HU

JA

KO

HE

AR

PT PL FI HU JA KO HE AR

QR 
Code 
Here



Nureva Room Manager

4

1.5 lb.
0.7 kg

 

B

D

C
B

E

GH

2 2.1

3

0.2 cm

2.2 2.3

support@nureva.com@

1 0 1 3 4 9 - 0 6

B

B

OR
1/16"

© 2018 Nureva Inc. All rights reserved. The Nureva logo is a trademarks of Nureva Inc. in the United States, Canada and other countries.

F

A
A

I

2115/16"
7.5 cm

KK
JJ

E

3.1

3.2

DUAL HDL300

*Computador não incluído
*Nie zawiera komputera
*Ei sisällä tietokonetta
*Számítógép nélkül
*コンピュータは含まれません
*컴퓨터는 포함되어 있지 않습니다
מחשב אינו כלול*
 الحاسوب ليس متضمنا*

Defina o HDL300 como o seu dispositivo predefinido de 
reprodução e gravação para o sistema operacional e 
software de conferência do seu computador.

Ustaw HDL300 jako domyślne urządzenie do odtwarzania i 
nagrywania dla systemu operacyjnego komputera i 
oprogramowania do wideokonferencji.

Aseta HDL300 tietokoneesi käyttöjärjestelmän ja 
kokousohjelmiston oletustoisto- ja -tulolaitteeksi.

Állítsa be a HDL300-t a számítógépe operációs rendszerének 
konferenciaszoftverének alapértelmezett lejátszó és felvevő 
eszközeként.

お使いのコンピュータのオペレーティングシステムおよび会議ソフトウェア用の
デフォルト再生および録音デバイスとしてHDL300を設定してください。

HDL300을 컴퓨터의 운영 체제 및 회의 소프트웨어의 기본 재생 
및 녹화 장치로 설정합니다.

 כברירת המחדל שלך למכשיר השמעה והקלטה HDL300 הגדר את
.במערכת ההפעלה של המחשב שלך ובתוכנת שיחת הועידה

 ليكون جهاز التشغيل الخلفي والتسجيل لنظام التشغيل � HDL300 قم بوضع
 .حاسوبك وبرنامج ا�ؤ�رات

PT

PL

FI

HU

JA

KO

HE

AR

Updates
Check for updates

i

?

3.3
www.nureva.com/download/audio-manager


